BEERRNITAREZ 4 FSHNEREEREZRERRFEESTER
ERHFEE
1~ TWEIRER - AIREABS (51 ? 7~ tREEEREEER - AREEERT
s % T e il

GRS 17 73.91% & E & | Btk

KRR A A 5 21.74% 1R 7 5y 15 65.22%

RHENGIE 0.00% ] 5 21.74%

FFo 1 4.35% N 0.00%

& E i 23 100.00% *FE T 5 13.04%
aat 8 23 100.00%

2~ FRERINT RALHAREAYREREAA ?

EOE e | 5 4 8 WM EA - WEZE RIS
AT 17 73.91% o B A E RIS RN e ?
& 5 21.74% P S mgg | B
O 0.00% 15 % 4y 12 52.17%
T 1 4.35% A 3 1 4.35%
& 5 8 23 100.00% A4y 0.00%
N AR 10 43.48%
3~ MEEESHERHEE ? & 23 100.00%
BE g | B
AT 3 13.04% 9 ~ WRLEWE - HEEHATZE
BEIE105 58 DL 19 82.61% EBHE T EFEFTILIES BOAE L IE
V10530575 0.00% AR ?
EIE305Y 2 17\ 0.00% E war | HAoLh
EAE /N DL | 0.00% %45 3 13.04%
*FE R 1 4.35% E F 2 8.70%
& it 1 B 23 100.00% KTy 0.00%
*FR 18 78.26%
4~ IEER R ER B IR ZERE el 2 & 23 100.00%
& E g |BEath
1R 4F 18 78.26% 11~ ARG AR 2
% i 3 13.04% % OE g | B
K #F 0.00% 15 = 17 73.91%
e FE R 2 8.70% I 4 17.39%
=W ARG 23 100.00% NE 0.00%
ENESIN 2 8.70%
5 B R EBERME RO AREI EREE 23 100.00%

& E gy | Btk
(EE =t 11 47.83% 12 ~ AR Z E IR SRR ?
il 5 21.74% 5 = gy | Btk
e 0.00% R = 59 95.65%
*FEoR 7 30.43% I E 0.00%
aat 8 23 100.00% ENi)=\ 0.00%

NN 1 4.35%

6 ~ MR EEHEE T EEH 218 aat 8 23 100.00%

e gy | Btk
HEERE 12 52.17% 13 ~ (3 AE (B R O] A 2
HRFERE % = ey | Btk
AR 0-00% AW z 3043%
SEAG 543 0.00% It E 5 21.74%
ARl B 0.00% PN 0.00%
KT 11 47.83% S NECaN 11 47.83%
& 5 23 100.00% & 5t 23 52.17%

SRS NEEARE R
1~ R ATES 72K RE 7
T X v |E o

=T A (FEAN) 4 17.39%

& 10 43.48%

sa A 9 39.13%

HEN (RN 0.00%

EIREAWN 0.00%

4 Al 0.00%

b (6] & F 5 0.00%

RBETRE G 0.00%

aat 23 100.00%

2~ EKIHBEE - BHE KR

S =
IR 0.00%
TERE 0.00%
B 0.00%
HE B 0.00%
i 0.00%
2R 1 4.35%
it 0.00%
B 0.00%
(=R 0.00%
SR 0.00%
ENie 1 4.35%
FERL 0.00%
SR AL 0.00%
TR 1.33%
HERL 0.00%
S 0.00%
SR 0.00%
R 0.00%
SRR 0.00%
L= 0.00%
T 0.00%
i 0.00%
2 1 4.35%
R 0.00%
H B 0.00%
2 0.00%
pe: 0.00%
B 0.00%
Tok B 2 8.70%
R 2 8.70%
TER 0.00%
TR 0.00%
TR 5 8.70%
GIRL 4.35%
R 0.00%
LA 2 8.70%
sy 0.00%
PN 1 4.35%
HH & 1 4.35%
i 3 13.04%
R 1 4.35%
A 0.00%
SELR 1 4.35%
BLRL 2 8.70%
TP 1 4.35%
S 1 4.35%
=Eikan 4 23 100.00%

14 ~ 10454 A B R ER:t 4230 -
15~ AAEEANHM AT R -

e -

— ~ IRAGIAE AT

PR RN E SR AZTWEHE > DUBERIERR -

“REH Ha



